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Q9:  Section A
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Shape of graph                      √ A1

Maximum 1 & Minimum – 1  √ A1

½ Period √ A1

Number of solution = 2
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√ M1

X 0 180o

y −1 0
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y = cos 2x

( Straight line must pass through at y-intersect = -1 and 180O )



Q10:  Section A
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No. of solution = 3

y = 1 + 3 sin x

Basic shape of graph √ A1

Y-intersect at 1                       √ A1

Maximum 4 & Minimum – 2 √ A1
1 Period    √ A1

X 0 2π
y 3 0

√ K1

√ M1

√ A1

( Straight line must pass through at y-intersect = 3 and 2π )



Q11:  Section A 
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No. of solution = 4
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Basic shape of graph √ A1
Reflection graph                    √ A1
Maximum 2 & Minimum – 2 √ A1
2 Periods √ A1
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y = - 2 sin 2x

√ M1

√ A1

√ K1

To plot curve y = π/x
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